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Section : General Intelligence

Q.1 Select the correct mirror image of the given number-cluster when a mirror is placed on the right side of the cluster.
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Question ID : 8161612180
Status : Answered
Chosen Option : 1
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Q.2 Which option represents the correct order of the given words as they would appear in an English dictionary?

1. Mankind

2. Manner

3. Manuscript
4. Management
5. Making

Ans o 115,42 1,3
X 28,054, 2.3
V3 54,1,2,3
X 44:1,2: 3,5

QuestionID: 8161612164
Status : Answered
Chosen Option : 3

@3 How many triangles are there in the given figure?

1\

Ans o113
<2 14
X312
<4 11

Question ID : 8161612177
Status : Answered
Chosen Option : 1

Q.4  Select the option in which the numbers are related in the same way as are the numbers in the given set.

(15, 49, 201)

Ans 1. (24, 76, 307)
X 2 (17, 55,220)
W 3 (29,91, 369)
X 4 (18, 58, 290)

Question ID : 8161612161

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Q,S In a certain code language, 'SECTION is written as PHZQLRK'. How will HOSTELS' be written as in that language?
Ans o f | ERPQHIP

X 2 EQPSHIP

X 3. FSPQHIQ

< 4 ERPRGIP

Question ID : 8161612165
Status : Answered
Chosen Option: 1

Q.6 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with comumonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

1. Some computers are phones.

2. All phones are televisions.
Conclusions:

1. Some phones are computers.

II. Some televisions are computers.

III.No television is a computer.

Ans X 1. Only conclusions I and III follow.
« 2. Only conclusions I and II follow.
/< 3. Only conclusions III follows.

/< 4. Either conclusion II or III follows.

QuestionID : 8161612174
Status : Answered
Chosen Option : 2

Q7 A X B means ‘A is the wife of B';

A+ B means ‘A is the father of B".

Which of the following expression means 'R is the paternal grandfather of S'?
Ans X1 J]XS=+RxU

vV2R+]+8SXxU

NK3SXUXR=<]

K4S x=Ux]+R

Question ID : 8161612170
Status : Answered
Chosen Option : 2
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Q.8 Four words have been given, out of which three are alike in some manner and one is different. Select the odd one.

Ans  of 1. Depression
/< 2. Dengue
/< 3. Typhoid
#< 4 Malaria

Question ID : 8161612173
Status : Answered
Chosen Option : 1

Q.9  Select the number that can replace the question mark (?) in the following series.

88, 95, 106, 119, 136, 155, 178, 2
Ans X1, 217

< 2 197

V'3 207

K4 249

Question ID : 8161612162
Status : Answered
Chosen Option: 3

Q.10 Select the option figure that is embedded in the given figure X. (Rotation is not allowed)

Ans

Question ID : 8161612178
Status : Answered
Chosen Option : 2
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Q.11 Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first

letter-cluster.
LZ:0A:UR:?
Ans J 1. FI
/< 2 HB
X 3 FS
X 4 GK

Question ID : 8161612167
Status : Not Answered
Chosen Option : --

Q.12 Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd

letter-cluster.

Ans X 1. AFK
< 2 BGL
< 3 PUZ
W 2 NSW

Question ID : 8161612172
Status : Answered
Chosen Option : 4

Q13 Which of the following options best represents the given Venn diagram?

Ans o 1. Mothers, Sisters, Daughters
7< 2. Mothers, Females, Aunts
/< 3. Accountants, Literates, Human beings

#< 4. Fathers, Nurses, Males

Question ID : 8161612181
Status : Answered
Chosen Option : 1
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Q.14 1f the following interchanges are made in signs and numbers, which equation would be correct?

Interchanges:
Signs: +and—
Numbers: 15 and 5

Ans of 1 4%x30—-15+5 + 12 = 21
K212%x30—-15+5 + 4 = 37
X3 4x30—-15+5 + 12 =27
X44x30—-5<15 +14 =21

Question ID : 8161612158
Status : Answered
Chosen Option: 1

Q.15 Ina certain code language, TENDER' is coded as "185414520".How will REQUESTED' be coded as in that language?

Ans X1 45221942116518
< 2. 45203952017558
< 3 65101852117516
o 4 45201952117518

Question ID : 8161612166
Status : Answered
Chosen Option : 4

Q.16 Four number-pairs have been given, out of which three are alike in some manner and one is different. Select the
number-pair that is different from the rest.

Ans X1 7 :343

v 2 12:1757
<3 11: 1331
X4 3:27

Question ID : 8161612163
Status : Answered
Chosen Option : 2
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Q.17 Acube is made by folding the given sheet. In the cube so formed. which number would be on the face opposite to the

one showing *5°?
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Question ID : 8161612175
Status : Answered
Chosen Option : 4

Q.18  Select the letter-cluster that can replace the question mark (?) in the following series.
EQM, GRL, ISK, KT7T, ?
Ans  of 1. MUI
X 2. NUS
X< 3. MVR
X 4. MTJ

Question ID : 8161612169
Status : Answered
Chosen Option: 1

Q.19 Anamount of 504 is to be divided among three persons A, B and C in the ratio of 7 : 8 : 9, respectively. How much

amount will B and C receive in total?

Ans X 1. 3268
<2 F419
< 3 3317
v 4 F357

Question ID : 8161612157
Status : Answered
Chosen Option : 4
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Q.20 Select the option that is related to the third number in the same way as the second number is related to the first number.

88:308::126:7

Ans X 1. 456
X 2 450
<3 379
v o441

QuestionID: 8161612159

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.21 Select the option in which the mumbers are related in the same way as are the numbers in the given set.
(15, 556, 331)
Ans o 1. (9, 159, 78)
X 2 (12,228, 74)
X 3. (17,495, 104)
<4 (4,331,309

Question ID : 8161612160
Status : Not Answered
Chosen Option : --

Q.22 ‘Human-beings’ is related to ‘Mammals’ in the same way as ‘Snake’ is related to *
Ans X' 1. Mammals

# 2. Non-chordates

' 2 Reptile

/< 4 Amphibian

QuestionID: 8161612168
Status : Answered
Chosen Option : 3
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Q.23 Select the option figure that can replace the question mark (?) in the following figure series.

Ans
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QuestionID: 8161612176
Status : Answered
Chosen Option : 3

Court esy

SSC


http://sscportal.in/
http://sscportal.in/

Downl oaded From : http://sscportal.in/

Q.24 select the option that depicts how the given transparent sheet of paper would appear if it is folded at the dotted line.
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Question ID : 8161612179
Status : Answered
Chosen Option: 3

Q.25 Select the option in which the words share the same relationship as that shared by the given pair of words.

Weight : Kilogram

Ans X 1. Distance : Hertz
+ 2. Resistance : Ohm
# 3. Time : Clock
< 4 Height : Length

Question ID : 8161612171
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude(Basic Arithmetic Skill)
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